
S.No. Column A Column B

1 1 gallon 17 cups

                     B.    If the part in column B is greater

                     C.   The two parts are equal. 

Directions :

Choose : 

Each question given below has two parts. One part is column A, the other part is column B. You must 
find out if one part is greater than the other, or if the parts are equal, You will choose one answer.   

                     A.   If the part in column A is greater

2 10 quarts 2 gallons

3 2.5 quarts 6 pints

4 2.5 gallons 20 pints

5 4.5 pints 10 cups

6 1 gallon 2 quarts 12 pints

7 3 quarts 4 pints 8 pints 7 cups

8 4 pints 8 cups 0.5 gallon

9 4 cups in 20 seconds 2.5 quarts in 1 minute

10 4 cups in 1 minute 15.5 gallons in 1 hour


